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Shot #: 3108, Param Tree: 72
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Shot #: 3108, Param Tree: 72
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Shot #: 3108, Param Tree: 72
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- Faults (PS): [0.56807208, 3.4330663]

- Faults (PC): [0.45687091, 3.5440661]

- Conditioned Data Range: [-0.0145602, 0.0129061]
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E IDL, Shaped [Displaced], [-0.0154602, 5.26975]
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= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

llllllllllllllllllllll

E Condjtioned Data (DCPS), Limits: [-1.2000000, 16.000Q00]
-4 -2 0 2 4 6
time

- Full Action (DCPS), Limit = 1410.0000, Max.=0.00010076686, End Val. 9.6538
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E IDL, Shaped [Displaced], [-0.00795972, 0.00884230]
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Shot #: 3108, Param Tree: 72
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- Faults (PS): [1.5602680, 2.4356689]
- Faults (PC): [0.70187227, 3.3004670]
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Shot #: 3108, Param Tree: 72
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